5+6+7=10+
1kg700g= g
7x4=20+

44 — 9

3+49=8+

4 x9= tens + 6units
20p + 5p - 6p

5TENS =. FHVES

25 + 4 = rem.

5p + 2p + 10p — p =9

500 plus 80 plus 4

Multiply 8 by 6.

Share 24p equally among 6
children. How much each?

Find the sum of 20p, 30p
and 45p.

From 78p take a FIFTY.

What is the cost of six
beads at 7p each?

Find the difference between
8 x 5and 10 x 8.

Add the even numbers
between 23 and 27.

What is the remainder when
28 is divided by 6?

How m]uch greater is 33
than 25?

tens

FIVES

rem.

10

By how many cm is a half
metre longer than 34 cm?

This clock is 10
minutes slow.
Write the correct
time in figures.
Use a.m.

cm

or p.m.

morning

How many FIVES are equal
in value to 15 TWOS?

Write in figures the number
which is seven less than one
hundred and one.

oam

How many strips each this
length can be cut from a
half-metre strip?

If 29th August is a Saturday,
what day is 1st September?

If a FIVE and a TWO are saved
each week, how much will
be saved in 4 weeks?

In a class of 32 children
17 are girls.
How many boys are there?

[75 83 76 85|

Which of these numbers is
nearest to 807

Divide 12p between Amy and
Daniel so that Daniel has
twice as much as Amy.

How much has Amy?

FIVES

—




